K

£E FUE| SUX|, AFI|A AL, AY

0

&5 89/HMF ololx|

ZL

THE!:
AEQIZ|A ARl M F T 1.4308.
AlZICE LIAF 1ISO 4762 2 €7 L{E SO 4032, AE|QIE|A AR

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/2



F2 HYE Stx|, 2212

A AEIl
hand—

Asd

=M
® D
W
T ‘
- —~
I | <
= [] [ ] 1 v [ |
M
U -
H =
4 N
HO @
I 1L
= g9
FE 7HE StHX|, 2HQ12| A A8
FEHS EFQJ A B C D E 7 G H K L M N P S U
K0479.112 A 12,1 55 18 25 32 304 37 38 325 405 50 5 23 M6x18 40
K0479.114 A 141 55 18 25 32 30,4 37 38 32,5 40.5 50 5 23 M6x18 40
K0479.116 A 16,1 55 18 25 32 30,4 37 38 32,5 40.5 50 5 23 M6x18 40
K0479.118 A 18,1 55 18 25 32 304 37 38 325 405 50 5 23 M6x18 40
K0479.120 A 20,1 55 18 25 32 30,4 37 38 32,5 40.5 50 5 23 M6x18 40
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/2



